A 6:6 % @ three fractions,decimals, order of operations with
= brackets

Name: Date: Score:
1 2 259 203
3— )X == — )7 =
( 6) 3 (10 10) /

171 1 1
— +27)+9= 5(=+=)=

(5 ) (5 7
(3-5.6)x54= 4(§+1 _
5 2
5-2)x4.6= 49 7.
( ) (__|__)T =
2 3
1 1 1
3(=—=)= -—39)=
-3 3(2 ~3.9)
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three fractions,decimals, order of operations with

= brackets
Name: Date: Score:
1 2 17 259 203 4
3_ — - = — _— —7 = -
G=35*373 TR TR
171 34 1 1 7
— +27)+9= — 5(=+=)=—
( 5 ) 5 (5 2) 2
351 3 1 22
- 5. 4=(—— 4(=+=)=—
(3-56)%54=(=0) G+3)=3
69 49 7 23
5—-2)x46 = — —+)=7===
(5-2) 46 =~ G+3+T=12

1 1 2
3(3 - 5) - (_g)

| 56
3239 =(%)
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